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W: The mterval from J

towards the nearest endpoint
of Hto K. stopping when Q
is touched. <
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J: The point that lies a

distance on the horizontal
line passing through the
furthest endpoint of H from

H.

A: A point.

Q: The portion of the
circle that’s centred
on K and intersects
the nearest endpoint
of Hto K. having a
greater x value than
H.

N: The interval connecting the points

of T and P which are nearest to Q.
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U: The long circular arc centred
at M with endpoints Z and F.
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K equal to half the length of [€]
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R: The interval from A to

the point whose position
relative to A is the same as
J’s position relative to the
nearest endpoint of H to K.

G: The reflection of R in
the vertical line through A.

H: The vertical
through K from the
point having the same
v value as A to the
point having the same

v value as the lowest y

value of U.

F: The reflection of Z by the
horizontal line passing through

M.
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K: The point having
the same y value as
point Z. a distance in
the positive x
direction from Z
equal to the length of
L.

Z: The point a distance from M
equal to the length of L, whose

direction from M 1s equal to the <]

direction of the point of T
furthest from M relative to the
endpoint of V nearest to M.
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M: The point that lies on the
extension of L. at a distance
from L in the positive x
direction equal to twice the
length of L.
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L: The horizontal interval connecting the midpoints of R and G.
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P: The
retlection of T
about V.
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T: the
translation of
V a distance in
the positive y
direction equal
to the length
of V.
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V: The
translation of
L a distance in
the positive x
direction equal
to six times
the length of
L.
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